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SECTION A (40 marks)

) . »s provided
/hmnwraﬂfhequaﬂhnminthmsvcunntnlhespaccsl
. . . , care sector other than recq
1. State two ways in which a computer could be used in the health o markrd
keeping. )
g 2 State four operations that may be performed on a file by an operating system. (2 marks)
3. Explain the term website as used in the Internet. (2 marks)
3 4 Explai itati

: xplain a reason necessitating govern .

< pla gg ments to enact data protection laws, (2 marks)
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5. The following data is to be entered in spreadsheet cells:
(@ 0922 111 000
(by  31/01/2022
State the cell format, other than the text format, that can be applied to the respective data cells in
order to appear as it is. (2 marks)
6. When an image inserted in a desktop publishing document is selected, handles on its place holder
appears. State three uses of these handles. (3 marks)
8
7. State a circumstance under which dry-run testing is performed when developing a program.
(2 marks)
g g State two ways in which data validation is implemented on an input form of a database
application. (2 marks)
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n organisation. State three roles that she i

9. Mikal has been employed as a computer traincr ina 3 marky)

likely to play in the organisation.

. . . : 3 mark

10.  List three electronic data processing modes used in computers. ( rks)
11.  Distinguish between data collection and data capture as used in data processing. (4 marks)
12.  Describe each of the following features of a graphical user interface operating system:

(a)  Pointer (2 marks)

b Deskto

i b (2 marks)
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13.  State a circumstance under which each of the following input devices may be used:

(a)  Optical character reader (1 mark)
(b)  Optical mark reader (1 mark)
14.  State the characteristics of an impact printer. (3 marks)
0
X
15.  Describe each of the following features of a word processor:
(a)  Hyphenation (2 marks)
B
DT L LD P T e e U P LTIV LU OT RO PR
(b)  Status bar (2 marks)
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SECTION B (60 marks)

Jions in this section.
Answer question 16 and any other three questions

o lan oages d B respectively:
16. (a)  The following are segments of programming languages A an P

(T name, class
A 00100 B orou studentsDetails
00111 WHERE House= “Athi Boys

ach respective segment,

. i senerati ooramming language used in e
(i)  Identify the generation of prog g s

P L L L L LR T,
srrasseseanes T
BRSNSl iieseesaesaasaaaaannesileRRTRrITesssTasennseRnEresassRRRRRLY

...............................................
....................................................................................

g (i)  State two advantages of each of the generation of programming language labelled
A and B. (4 marks)
(b)  An organisation intends to increase salaries of employees using the following rates:
8
< Current Salary Percentage Increment
Greater than or equal to 70000 59
Greater than 50000 and less than 70000 8%
Less than or equal to 50000 10%

Write a pseudocode that reads the total population of em

L loyees i »anisation and
then performs the following for each employee: ployees in the organisatl

e Reads the current salary
e  Compute the increment

e Display current salary, increment and the new salary

Hint: increment = current salary X percentage incremeny rale © marks)
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R LI I LT sessssssssssanan

sasisanes

T R PP

CEETT T T Bessesssssiasnnnraan sessessssseernnne
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L TETT Ry

srerensnranrrnany

semrassssRasesRstatre
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sisssssssasisnna
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sssssinsses iesssssmssesean

sesse

errrraasnEras ECE LR TR

sesnas
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sessrsaveen
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arrssasanasan
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sesvsssavana

LR sssssasssan

ssssssassnnns sessssssssssianas besssasansansen setessnres
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arsasassiniane Chiedssssrsaiaa

sessssnassannans

sessssrinae serrrensenss

srssssssnes ssssnses

srassasssanann

sessrraanes serrassnnrsraen sesssssenanas sssssssses

ssssswensans

samsrrrrrraens

srsssssiianan sssasasann

sessanassrsssann

sesssrnnne

ssssssannan

ersanvan

sassessasarens sessssanenne

asasaneraens

sessssnanan

rssassraene trrsaans

seersssenannnan

ssssssnavnn

FEXEEREEEEE

sessansenanss

reasn resnsnns

rrrsasnsanas

sesravsavane

srssasssases sessssinnns

sssssssassmnnaee

e RrAdAasERE RNl Iasss Rt IssRtRRasasans

srssssssanss sessrsinnne
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(@)

(b)

8

L : op SYStem. 4 ma
Distinguish between octal number system and binary number sy ( 1ks)

. LT
TR e
cassamennannener
............ D L LL LR RELEE L R LR
...................
CesessiEEsesetETIAEEEETT SR ETISS it aay,, eenaa,,
YT LCCEEE A
....................................... R T L R LT L L L
essssdiarBETIsEITITIS LI RELLay trrrienisaa,,
...........
. wesenerrres
................................... SrsseEsrerssEsittte e raenaRsanannEnariie
.......... Sassrseseirinrsratittisiieiia,,,,
. serisernreeee "
.................. R R R R L L e A bbb
L P P,
. cissrarvererernas »
...................... B L e
sresssses Trrsesertenies
...... arerne srsesanre .
------------------ R R T T L R AR
...................... T T,
B AR LELRLL T R L L D P P P PP sassssseseriseerresannrrrreney

Subtract 17, from 23, using 8-bits one’s complement leaving the answer in binary
notation. (4 marks)

................... R LR L LTI
-------------- A T PR TR R e
L aren
e NN R R AR R IR IR e e aee ettt . “ereanesastesaternreatrnann TTTTILIIL
D teswnunane sessstrsnnsan Sasbbiiesenenessesnierd st
....................... a.uu-u.u-u-u----uu-nu.-u..---.........-.-.....-nn--u----.-.--....-..........--.-...............n.-------
..................................................................... tressrrrananaas B T
R T L L L T R R PP treserrriiane TEER R et iatanny Stterirrtirrenaaraae aow

R D LR
R R R R R R P e e AT E R R TIIIREREEAAR R R R RN a

............ .
TNt s ittt anas R L R

e aa s e n e R B S PR e RO IRl a TN NN bbbt aaat ey AR L K PR,
AR L LR T N R sananr
Seserssasansanannne “ee
............................. n-n----onn-o----..---......-...--.--c..c--.‘..'n-.o------..-.....,
NNttt et en et s nsnnantaasersananett
Trreesesttaransananse CECEERREL]
.-.......v.-......--..--.--....-.-...............-----.'--v'.-uc'--‘.------cu---o--'.......‘,'
L
Tttt eeNI s ssssnnnanen senaee
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State four ways in which a graphic designer would use a computer in a media company.
(4 marks)

Srersmnasaness Sesessscsssctcccsncrnnnanee R P ) seesesnnnen tressesrissasnrtaanas
................... e P L
e D Bessananns
hh 20880 RRRRRRRNRGLIRNGINNS A L L L e sressssresecscstcanannnny srennenee ernre

State three functions of an operating system in respect to disk management. (3 marks)

---------------- B A T T R e e L R L L L L LA AR A bbbl

Explain three benefits of e-commerce to a company that deals with importation and selling
of cars. (6 marks)

................. e b et s s aseaasanseesessessiitiasdanst i IuaRsEsuNRI TNeUnaNaaNNRIIeRsPRIteeeRarIIIITIrr ataRRLREIIIRIIRRIISRIEREERRT TRty
A T L L L L L L TR sesssasans sessasesraenrrrennny terveseenistssatananns SEsEEteeseRsssEE TR T s nsenaanan
cassassessstarrrereninns sassranes tersssseascnnreresansatannny Had s sadanssransrsraasaat s adaal bl e a RN P PP IR I I el rTaTrIIestretsitctiiatennrrrTTaeS
essannars Pesesessdasrannnss sasnmrwres erresrraanrreriasane tetsenranerrrinanessiasas T T T T T T T T trrsssisasans
----- .--...-.....-.-......--...-....u--.--.n-..-.-n..n---.......--.--........-u----u-u-------u-..-......................----.-........

sesssrsesenaans veseans ersrasnessnaae semssesnsraraaany sresenrrannrrene sessssesssnnsssennnnes sessssasersrssirassnnen L LI L L L LT T
____________________ T e e e e e L L L L A L AL L
sesasmsssesamusresseasteatanaeaaas sesassssssmsmsEsassanBIITILLLEILY PRI T LR L E LR T 4essssssiaaaanane SilssssEEsEEssesTEELIEEREERITRETS
vesssnssese sasmeesssEEssesnsnTnenareRRraanrl e LR L R R e R e LR R sessssssrsasnnnn srasenue
------ u--.....-....u..-.....-........-..-..-.--.uu-n...".....--..----n.u-n-.------------u-.-.----..“.--............................

redEErEe st aarsasraasbadn R T L L LLLEL T L L L L L L L L] e s aas e a e NI E e e e alaNaElIIeetettIlitaNItttTTatanibNIRRRERSTTRErEEET ey
ereseretrteese searesssenacaresis T T L AR LR L L Sesssssnsasnnnnae NN e I I asesttasssstittesanIsrranaststanarrbtasenn
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. ve reasons for this
(b) A systems analyst intends to study an existing system. State fi Study,

(S marks)
wn
-
(¢)  Distinguish between usability testing and functional testing as used in system development.
(4 marks)
o
(=}
€ sseessessssssrsens ssseessaseravete vesesrsnes eerertsnrrnssetctattnnne e enttieittiiir e, ved .
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Explain the purpose of each of the following features of a spreadsheet chart:

(1) Legend (2 marks)

L T P
............. LT
N it N m il e r s e s s P s Rl asar i asasaaiisanetansssossansssasassnsssnsrsnsssastse
................. ..
trrstitan
L T P, R T T LR L L TR LT T T
L TR T TR S,
......
T P NP, R T R

(i)  Data series (2 marks)

-------- .
R T IR T TR GesesaEERsRsIIRRRRRRIIRRIERR IR R eRRas

R T R,

...................... L T L L R

(i)  Data marker (2 marks)

sresssannns L T T T eeseia R L L L R e sssssssssssanunsnnns
....... PR LR LR D L TR
..................................... T T PP PR

A school intends to install a computer network. Explain three challenges that the school
may experience after the installation. (6 marks)

........... T L LT T T T TP R PPN NN
sasessssacernessasescanrrraas P L L L L L L L T e LR LR B T tesssarrrrsrienntnns
P L L EEE LR LR L PEPTTTTETT T cesssssssassane N AN IeaaAARE AR AREIIAsisAREssRsisansnnns D T T T T TP PP Py

B TR L L LL L LR E LTI TR P LT R R PP PP

----------- esdsseesssERERIRERRRRRRRRRRT YA ORISR REY

e s s a NI e aa s it asesrni asstenseiasesamtstsiancstsntisaassssrssancsanctsnnsnnnnsnns
esssssbsEREIEIR TR TeRREY
T L LL LR L L L
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) . " rganisation. Explain thy
; any has been tasked to constructa network foran org 1three
() XpatICTcompany has been taskec he media for the conneetivity,

factors that the company should consider when selecting t
(3 marks)

---------------------------
........................
................

.................
------------------------------------------------------------------------------

................................................
.................................................................................

.........................................................................................

20. (a) State the functions of each of the following protocols as used in computer network:

[Te]

[30]

- (i) SMTP (1 mark)
(i)  FTP (1 mark)
(ii1)) DNS (1 mark)

T ersevennisienernansas MOS0 0essUs st sasnsasasnsasassnssanasiseess

<

(b)  State two characteristics of each of the following network topologies:

(i) Mesh topology (2 marks)

---------------------
.......
------------------------------------------------------

-------------------------
--------------------------------------------
----------------
...................................
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(i)  Ring topology

........................
------
----------------------------------------------------------------------------------

------------------------
......
..................................................................................

-----------------------
........................................................................................

With the aid of a diagram, describe a centralised computing configuration.

cate of Secondary Education, 2021
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. ~ ~ . & ity S:
(d)  Explain each of the following computer security threat

(1) Social engineering
(i)  Vulnerability. (2 marks)

-----------------------------------------------------------------------------------------------------------------------------------

THIS IS THE LAST PRINTED PAGE.
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